THeFELVhbEhEZ6AEHEAE(FE)

= # A H i B| HA=EA = & RN B
1 6 A 6 H K | FHI10EF X = & (& B )
2 6 A 7 H & 7N =
3 6 A 8 H T K =
4 6 A 9 H =] 2N =
5 6 B 10 H A FRI108F Xz & (— &% B B )
6 6 A 11 H X | FRTI0BF A= B (- KR & B )
7 6 A 12 H K | FHEI10EF A= B (- KR & B )
8 6 B 13 H K | 4HEI108F Xz & (— &% B B )
9 6 B 14 H £ | 4HI108F = 1 ES 8 E
10 6 A 15 A x K =
11 6 A 16 A =| 2N =
12 6 B 17 H A 4R 108F = 1 ES 8 E
13 6 B 18 H K| FRTI0EF e Al ES 8 E
14 6 A 19 A K 2N =
15 6 A 20 H K | FHI10EF X = B (&% # B )

X HERZIE. BEORABICIYERICGDIEEAHYET,
X BEBEHRGEICLY, BERNEEIZGIEEAHYFES .




